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QUESTION 1

What is the difference between a handle and pointer?

A. A handle is an abstract reference to a value, whereas a pointer is a direct reference.
B. A pointer is an abstract reference to a value, whereas a handle is a direct reference.
C. A pointer is a reference to a handle.

D. A handle is a reference to a pointer.

Correct Answer: A

QUESTION 2

Which one of these protocols requires a connection to be established before transmitting data?
A.TCP

B. UDP

C.IP

D. OSPF

Correct Answer: A

QUESTION 3
Which two statements best explain why domain shadowing is difficult to detect? (Choose two.)
A. The created subdomains are numerous, short lived, and random, with no discernible patterns.

B. The attacker gains admin access to a legitimate domain, and uses that legitimate domain to register many shady
subdomains.

C. The attacker rapidly rotates a single domain to a large list of IP addresses, to avoid detection.

D. The exploit kit landing page subdomains are usually active for a long time and branched into using both third-level
and fourth-level domains (for example, brandmuellergeifiseer.astarentals.co.uk).

Correct Answer: AB

QUESTION 4
Which of the following services are provided by a lightweight access point? (Select all that apply.)

A. Channel encryption
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B. Transmission and reception of frames
C. Client authentication
D. Quality of Service

Correct Answer: AB

QUESTION 5

Based on which statement does the discretionary access control security model grant or restrict access?
A. discretion of the system administrator

B. security policy defined by the owner of an object

C. security policy defined by the system administrator

D. role of a user within an organization

Correct Answer: B
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